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LetU=1{0,1, 2, 3, 4, 5,6,7,8,9}with subsets A = {3,5,7,9}, B=1{0,1,2, 3,4,5,6}
and C = {2, 4,6, 8}. Using above informatin find : (3) (AUBUC) (b)(AnB)—{AUC)

LetA=1{1,2,5,6,7}and B= {2,4,7, 8} then,

({} FindAABand BA A.

) Letf:AAB —> B AA, defined by f(x) =x, then show that f is one-one function

using Venn diagram.
OR

Let A= {0, 1, 2, 3} and a function f : A — R defined by f(x) = -———;( then answer the
following questions.

@ Find A m Re (Range of f)

(I Show that f(x) — f G:) = 2f(x)

X—1
Letf(x) = maThen find f(x + 1) — f(x — 1), forx > 0.

Let A = 1 j Then find the inverse of A if it exists. Also find the A+AT
4
_ 1 _ 3 . o
IfA = {2 1j and B = B 4} ,then verify adjAB = adjA - adjB.

OR
Solve the following system using Cramer’s Rule:

X + 2y + 3z = 6
X + 4y + oz = 7
3 + 2y + 92 = 14
Show the following matrix as the sum of symmetric and skew — symmetric matrices.
2 -2 -1
A=10 4 1
i1 -3 1

Lettwo ines ij: x— 2y + 3 =0 and b 2x — 3y +4 =0,

O Find the equation of a line passing through the intersection of I; and 1, and having
slope =
3
(If)  Find the equation of a line passing through the intersection of I; and 1, and parallel
o a line joining {1, 1) aﬁd €, -1).
Find the equation of a line pasing through two points (2,3)and (1 2).Also find the sloop
of that line
f?’ht“}i
F tions of i ssing through (2, -1) and making angle - 5 with the line
6x + 5y — 1 = 0. Also show that these two lines are perpendicular to each othe
Find the value of k, if the distance between the points (3,k) and (4, 1)is v fs:f} :
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4 A Lety=log(e**!) ,then find aj—}: using chain rule.

B Find [(2x+ 3)%dx.
OR
I's Y 1 Fald 3 dy ¥ 1 s ¥
1 (2x + 3), then find == using chain rule.

dx
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Lety =

B Find [—=dx.
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S Attempt any seven out of twelve.
1. LetA = {3,5}and B = {1, 4}, then n(A x B).

{a) 2 by 4
&y & {d) None of these
2. Ifn(A) = 3,then power set of Ahas ___elements,
(a) 8 (b) 6
() 9 {d) None ofthese
3. TherangeofafunctionfiN - Z,f{x) =x—1is___
(a) N (b)) Z
(c) Q (d) None of these
4, LetafunctionfAcZ— Z,f(x) = |x|isoneoneifAis___.
(a) N (b) Z
(c) Nu{0} ‘ (d) None of these
5. Therankofamatrixwitha; = 1 foralliandjis___.
(a) 1 (b) 2
(c) 3 (d) None of these
6. Asquare matrix A is a null matrix if.
(@) ay=0foralliandj (b) ay=0foralli = j
(¢) a;=0foralli= jonly (d) None of these
7. AThe determinant of an identity matrix is,
(@ 1 (by 0
(oo -1 (d) None of these
8. Theslopeofaline9x—3y+2=0is___
(a) 1/3 () 3
(¢ 2 (d) None of these
g, Angle betweentwolinesx=1andy = 2is___.
(a) 0° (b) 45°
{cy 90° (dj None of these
10. Twolines are parallel if the relation between their slopesis____.
(@ mprm,=1 (®) my-m,=-1
(c) my=m, (d) None of these
11, asn—ow,2n—___
(@ o (b) ©
o 1 (d) None of these
12. f 314dx=___ .
(a) 2x+c (b) 5x+c¢
(c) 0 (d) None of these
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